SECONDARY SCHOOL EXAMINATION — 2024
AIEAAd Thel & — 2024

fasa @1s : 110
Subject Code — 110 (ANNUAL/ Eﬂﬁa;)
MATHEMATICS (COMPULSORY)
UGNSIREIR))
$d YTl DI AT : 100+30+8 = 138 quiid : 100
Total no. of Questions : 100+30+8 = 138 Full Marks : 100

ghenfefal & ferg 79T -

Instructions for the candidates :

1. el OMR SR 056 WR U1 U9 YRADI HHIG (10 3Dl B1) 37awy ford |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in
the OMR Answer Sheet.

2. YRl IATEHT AU Tl H B I T |
Candidates are required to give their answers in own words as far as

practicable.

3. QIR SR IR W Y gY &fd Purie Mfde &xd 2 |

Figures in the right hand margin indicate full marks.

4. U BT M Ydd Ugd & forg 15 e @1 ifaRaa wwa feam ar 2

An extra time of 15 minutes has been allotted for the candidates to read

the questions carefully.

5. I8 U gRAPI I GUS| H © — WUS—3A U9 WUS—q |
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This question booklet is divided into two sections — Section-A and
Section-B.

Gue—31 H 100 TS U &, ™ ¥ &gl 50 UeHl & IR A7 Sff+1ard 2|
T W 3Ad YTl & SR QF W YA 50 ITRI DI B AT a1 ST |
Ud U B oy 1 3 MEiRa g | F8 SR &I SUae R’ T OMR TR
93d H & T e [Awed BT el /Plel 9l U9 | WMg Y | BT T R
% §IgeR / TRl UGB / &8 / ARGA 3Mfc &1 OMR IR gRaaT H
TIRT HRAT 7T, =TT TRIeqT uRomH M= 81T |

In Section-A, there are 100 objective type questions, out of which any 50

questions are to be answered. First 50 answers will be evaluated in case
more than 50 questions are answered. Each question carries 1 mark.
For answering these darken the circle with blue / black ball pen against
the correct option on OMR Answer Sheet provided to you. Do not use
Whitener / liquid / blade / nail etc. on OMR-sheet, otherwise the result

will be treated invalid.

Gus—g ¥ 30 g SR U &, RH & 5=l 15 Ui &1 SR <7 Afard
g UG U B ol 2 3w FEiRT & s9o AfdRed, s9 @ve 4 8 <
IR g &Y N 8, 98 9 {52l 4 Ul & IR <97 8| ISP U9 &
forg 5 afp MeiRa €|

In Section-B, there are 30 short answer type questions, out of which any

15 questions are to be answered. Each question carries 2 marks. Apart
from these, there are 8 long answer type questions, out of which any 4

questions are to be answered. Each question carries 5 marks.
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Use of any electronic appliances is strictly prohibited.



gus — 31 / SECTION - A
qifss e / Objective Type Questions

TR W@ 1 ¥ 100 9F @ U @ 9 IR [eed oy v § 599 9 e 98 2| R
50 Ul & SR AUH §RT o Y He! fadhey B OMR ®ie WR fifzd & |

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the OMR-
sheet. 50x1=50

1.

2052 & AT T[UIFEIUE H 3 BT G T 7 ?

(A) 2 (B)3

(C) 4 (D) 5

What is the power of 3 in the prime factorisation of 2052 ?
(A) 2 (B) 3

(C)4 (D)5

frfeRad o fbd®T semeT gR id 81 ©§ 7

7 9
A Zoxs B)xs

15 13
( )24X72 (D)22X52

Which of the following is not a terminating decimal expansion ?

7 9
( )20X52 ( )24X53

15 13
( )24X72 (D)22X52

98U X(2X — 5) - 3D YRIBT BT AN B



(B)-2

2

(A)

[ V]

(C)-

N | W

(D) 2
The sum of the zeros of the polynomial x(2x — 5) — 3 is

(A)

ulN

(B)-3

(C)-

N W

(D) 2

I THHRUT 2% + px—3 =0 BT T ol —3 & I p BT 719 &

(A)3 (B) 4

(C)5 (D) 6

If one root of the equation 2x* + px — 3 = 0 is — 3 then the value of p is
(A)3 (B) 4

(C)5 (D)6

I 9gU% ax’ —bx+c® YIS a, B A . f BT AN 7

(A) (B)-2

c

©)g (D)-<

frforRag d pr o S0 H B ?



(A)2,5,7, ... (B) 22, 3%, 7%, ...
(C)x, X%, X, ... (D)1, 3,5, ...
Which of the following is in an A.P. ?

(A)2,5,7, ... (B) 22, 3% 7%, ...
(C) x, X2, X°, ... (D)1, 3,5, ...
(1 + cot?8)(1 — cos®0) =

(A) sin’0 (B) tan?0

(C) cos®0 (D) 1

5x° — 4x + 2 = 0 &1 fafgaqax ®

(A) 24 (B) —24

(C) 26 (D) —28

The discriminant of 5x* —4x +2 =0 is

(A) 24 (B) —24

(C) 26 (D) —28

2x° - 4x + 3 =0 ol o ugfa Far gnft ?

(A) IRafdd a8l (B) arfde 3R HAH

(C) aIR<dfa® Ud 3IAM™ (D)3 A Bl ol
What will be the nature of roots of 2x* - 4x +3=0?
(A) not real (B) real and equal

(C) real and unequal (D) none of these
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10.

11.

12.

13.

ffoiRad § &9 xX* —3x+2 =0T U&h o & ?
(A) 0 (B) — 1
(C)-2 (D) 2

Which of the following is a root of x> = 3x +2 =0 ?

(A) O (B) — 1
(C)-2 (D) 2

Prfofad # et UHHa Th TR we § 2

(A) V3 x5 (B) V7 x V9

(C)V8 x 2 (D) V3 x V6

Which of the following is a product of rational number ?
(A) V3 x5 (B) V7 x V9

(C) V8 x 2 (D) V3 x V6
fFrfeiRed & B9 154 &1 | [OTRITS & 7

(A) 2% x 7 x 11 (B)2 x7 x 112

(C) 2 x7 x 11 (D) 2° x 7 x 11

Which of the following is the prime factorization of 154 ?
(A) 2% x 7 x 11 (B)2 x7 x 112

(C) 2 x7 x 11 (D) 2° x 7 x 11
frfaRad # @19 Tearia e § ?



(A)X+5=x+7 (B) (x+1)>=x>+4x+2
(C)x*+2x+1=0 (D)x*+5x +6=0
Which of the following is a linear equation ?
(A)Xx+5=x+7 (B) (x+1)*=x>+4x +2
(C)x*+2x+1=0 (D)x*+5x+6=0

14, f=foRad o 9 d—a1 fgard aHiaRor g ?
(A) (x+1) (x-2) = (x-1)(x+5) (B)x*—2x= X* + 1
(C)2x% +4x +2=0 (D) X’ =x-=
Which of the following is a quadratic equation ?
(A) (x+1) (x-2) = (x-1)(x+5) (B)x?—2x= X* + 1
(C)2x* +4x +2=0 (D) xX*=x-=

15. Ife TR0 4x° —3Kx + 1 =0 T RER &1, a1 K=

(A) +2 (B) 3
(C) £ (D) £

If the equation 4x* — 3Kx + 1 = 0 has equal roots then K =

(A) £5 (B) %1
(C) £ (D) +5



16.

17.

18.

afe &A1 fgard 9gus & YRIBI BT ANH 2 Ud qUEHA —15 ©§, o 98 fgard

ERCERSRI
(A) X* +2x + 15 (B) x* + 2x - 15
(C)x*—2x + 15 (D) x* — 2x - 15

If the sum of the zeros of a quadratic polynomial is 2 and their product is
-15 then that quadratic polynomial is

(A) x>+ 2x + 15 (B) x* + 2x - 15
(C)x*—2x+ 15 (D) x* - 2x - 15
faforRaa & o <o 2o # ==& & ?

(A) 12, 16, 20, ... (B) 22, 52, 7% ...

(C) a, 3a, 5a, ... (D)3,5, 7, ...

Which of the following is not in an A.P. ?

(A) 12, 16, 20, ... (B) 2%, 57, 72 ...

(C) a, 3a, 5a, ... (D) 3,5, 7, ...

[0 0 V2, V8, V18, V32, .. BT AR B

(A) V3 (B) V2

(C) 2 (D)3

The common difference of the A. P. V2, /8, 18, /32, .. is
(A)V3 (B) V2

(C)2 (D)3
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19.

20.

21.

22.

Jfe x+2,3x3AR 4x+1 W0 H0 H & Ol X BT 79 8

(A) 2 (B) 4

(C)3 (D)5

If x + 2, 3x and 4x + 1 are in A.P. then the value of x is

(A) 2 (B) 4

(A)-10 (B) -15
(C)-17 (D) -20
The 10" term of an A.P.: 10,7, 4, ... is

(A)-10 (B) -15
(C)-17 (D) -20
O $0 : 2, 7, 12, .. BT P AT UG 47 & ?

(A) sdi (B) 10df
(C) 124t (D) 14dT

Which term of the A.P.: 2,7, 12, ...is47 ?
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23.

24.

25.

(A) 8" (B) 10"
(C) 12" (D) 14"
UM 10 favA UTqd Al & ANTEd @

(A) 50 (B) 100
(C) 150 (D) 200
The sum of first 10 odd natural numbers is
(A) 50 (B) 100
(C) 150 (D) 200
gfe < |0 0 _T nAT UG t,=2n + 5T t, =
(A)9 (B) 11
(C) 13 (D) 15

If the n™ term of an A.P. be t, =2n + 5 then t, =

(A)9 (B) 11

(C) 13 (D) 15
p(x)=x5+1ﬁg(x)=x+1®wméﬁrq-\r%zmmﬁ%

(A)3 (B) 4

(C)5 (D) 2

On dividing p(x) = x° + 1 by g(x) = x + 1 then the degree of % is

(A)3 (B) 4

11



26.

27.

28.

(C)5 (D) 2

IR 9gU8 p(x) FT UF TIF —3 B, A Frafiad § B9 p(x) BT & [oRETS
BT ?

(A)x +3 (b) x- 3

(C)x ++/3 (D)x-+3

If one zero of the polynomial p(x) is -3 then which of the following will be a

factor of p(x) ?

(A)x+3 (b)x-3

(C)x ++/3 (D)x-+3

2X -5y =7 &1 UH & &

(A)x=-6,y=1 (B)x=3,y=1
(C)x=-1,y=1 (D)x=6,y=1

One solution of 2x — 5y = 7 is
(A)x=-6,y=1 (B)x=3,y=1
(C)x=-1,y="1 (D)x=6,y=1
FrferRad § B9 g x = 4 @ aToRg W R ?

(A) (4,0) (B) (4, 3)

(C) (4, 4) (D) s Y

Which of the following point lies on the graph of x = 4 ?
(A) (4,0) (B) (4, 3)

12



(C) (4, 4) (D) all of these
29. O %10 : 2, 6, 10, 14, .. B fIW ayg— aqo T A B

(A) 50 (B) 40

(C) 20 (D) 10

The value of ayy — aio for A.P.: 2,6, 10, 14, ... is

(A) 50 (B) 40

(C) 20 (D) 10

30. THIHRUN 5x -15y = 8 eIl
3x—9y=? & 3fTeld VT &1 Y@ ghfl, St
(A) Hurdft &

(B) ¥AIR &

(C) RER T fag oR ufcress el 7 |
(D) 395 ¥ DI ol
The graph of the equations 5x -15y = 8 and

3x—9y = 2—: are two lines which are

(A) coincident
(B) parallel
(C) intersecting each other at one point

(D) none of these

13



31.

32.

33.

I a1 FwT Sl & &%l BT TgUId 49 : 81 B, Al 9@ d oIl &

SRRINES
(A)9:7 (B)7:9
(C)7:8 (D)9:8

If the ratio of areas of two similar triangles is 49 : 81 then the ratio of their
corresponding sides is

(A)9:7 (B)7:9

(C)7:8 (D)9:8

T R S B GIT YOl 4 0 5 D AU H B 39T FYS D eFhl B

3T &
(A) 25 : 16 (B) 8: 25
(C)16:25 (D)4:5

The ratio of corresponding sides of two similar triangles is 4 : 5 then ratio of
their areas is

(A) 25 : 16 (B) 8: 25

(C)16:25 (D)4:5

Th Al @ [dH0 24 I AR 32 FHT 2| 3HD YD oI forRaa #
[EREACNENE

(A) 10 3+ (B) 20 &

(C) 30 &I (D) 35 ¥

14



34.

35.

36.

The diagonals of a rhombus are 24 cm and 32 cm. its each side is equal to
which of the following ?

(A) 10 cm (B) 20 cm

(C)30cm (D) 35 cm

tan230° + cot?60° =

(A) = (B)=

(C) (D)

AABC T2 ADEF # 22 =22 3 11 Prqet wwy 1, af
(A) ZLA= D (B) L B=_~E

(C) £ C=_-D (D) «B=_~F

AB _
DE

If % in AABC and ADEF both of these triangles will be similar if

(A) ZA=_D (B) /B= ~E
(C) £C= D (D) ~/B=_~F
gfe AABC~APQR 31k 810 AABC : &0 APQR = 121 : 169 dI BC : QR &T 99

&

(A) 121: 169 (B) 15: 19

(C)11:13 (D) 13 : 11

If AABC~APQR and ar AABC : ar APQR =121 : 169 then the value of BC :
QR is

15



(A) 121 : 169 (B)15: 19
(C)11:13 (D) 13 : 11

37. sin’d + cos’f =
(A)O (B) 1
(C) -1 (D) 2

38. afd AABC~APQR, /B=47°, ~R=83°d1 /A=
(A) 50° (B) 60°
(C) 70° (D) 80°
If AABC~APQR, ~B=47°, ~R=83" then /A=
(A) 50° (B) 60°
(C) 70° (D) 80°

39. AABC~APQR 3R 2AB = PQ @ BC = 8 ¥ d QR =
(A) 12 3 (B) 14 3
(C)16 w5 (D) 18 ¥
AABC~APQR and 2AB = PQ and BC = 8 cm then QR =
(A)12 cm (B) 14 cm
(C)16 cm (D) 18 cm

40. AABC % AD1BC, AD = DC = 8 &I, BC = 14 ¥t a1 AB &l 91
(A) 15 B (B) 16 ¥
(C) 10 3% (D) 19 I

16



41.

42.

In AABC, ADLBC, AD = DC = 8 cm, BC = 14 cm then the value of AB is
(A) 15 cm (B) 16 cm

(C) 10 cm (D) 19 cm

el 9o @1 IR SHS I ¥ 9 I SF & | 99 @) Foar 2

(A) 1.1 T (B) 2.1 I

(C) 25 & (D) 3.1 IR

The circumference of a circle exceeds its diameter by 9 cm. The radius of

the circle is
(A) 1.1 cm (B) 2.1 cm
(C)2.5cm (D) 3.1 cm

31 gl @ &FmAl BT AR 100 FHIS TAT @] GRERT HT AR 20 W 2| D!

2roamatt &1 AT
(A) 1or ¥ (B) 20 T
(C) 10 &#I (D) 10v2 &+

The difference of areas of two circles is 100cm? and the difference of their

perimeters is 20 cm. The sum of their radii is

(A) 10T cm (B) 20T cm

(C) 10 cm (D) 10v2 cm

17



43.

44.

45.

afe a5 (5, P) derm (2,0) & = @ g1 5 &1, I P ReR ©

(A) £3 (B) 4

(C) £5 (D) £6

If the distance between the points (5, P) and (2, 0) is 5, then P is equal to
(A) £3 (B) £4

(C) £5 (D) £6

31 g1 @ Al BT U 36 : 49 B, SDI HSATS BT U ©

(A)6:8 (B)6:7

(C)7:86 (D)8:7

The areas of two circles are in the ratio 36 : 49. The ratio of their radii is
(A)6:8 (B)6:7

(C)7:6 (D)8:7

7 W G191l U 9 b favg P ¥ 24 W o Rl w@m PT @R Sl 2
Ife O g & &= & o OT @I oaTs ©

(A) 20 I (B) 25 341

(C) 30 < (D) 35 3

In a circle of radius 7 cm, tangent PT is drawn from a point P such that PT=

24 cm. If O is the centre of the circle, then length of OT is

18



46.

47.

48.

(A) 20 cm (B) 25 cm

(C) 30 cm (D) 35 cm

&1 gl B ARl BT Sgurd 2 © 3 § O S &hal Bl IJUId ©
(A)2:3 (B)4:9
(C)3:2 (D)9 : 4

The ratio of the radii of two circles is 2 : 3 then the ratio of their areas is

fPdl 90 & b= 4 13 9 R Red forg P 4 Wl 78 Wel Y@ &1 ofdrg 12
9l 7, @ 99 3 B B

(A) 6 | (B) 12 &1

(C) 5 & (D) 13 30

The length of a tangent from a point P at a distance 13 cm from the centre
of a circle is 12 cm, then the radius of the circle is

(A) 6 cm (B) 12 cm

(C)d5cm (D) 13 cm

19



49. TS S &I e B g3 14 AT ofdl § g9d gRT 15 e H A=d 89%d ©
(A) 144 3 (B) 154 3
(C) 164 T’ (D) 140 ¥’

The minute needle of a watch is 14 cm long. The area covered by it in 15

minutes is
(A) 144 cm? (B) 154 cm?
(C) 164 cm? (D) 140 cm?

50. Sec’30° —tan®30° =
(A) 0 (B) 1
(C) -1 (D)2
51. APQR # QR &1 S fag d& gemr a1 g RSy ZPRS = 150° @@ /PQR =
80°dr ZQPR & A ©
(A) 50° (B) 70°
(C) 80° (D) 150°
In APQR, side QR is extended up to a point S such that ~PRS = 150° and
/PQR = 80°, then the value of ZQPR is
(A) 50° (B) 70°
(C) 80° (D) 150°

52. r 3 arel g @ forg O ST arel BrUETe % @1 @ N ©

20



53.

54.

6 2 (7]
(/\)gga)(TTr (EB)EEE X 21r

(C) % X TIr (D) 3% x 271

For a circle of radius r the length of an arc of a sector of angle 6 is

6 o
(A) 5= x mr? (B) 55 x 2mr

(C) = x 7tr (D) -% x 2772

360 360

afe A = 45° dT sinA + cosA + tanA &1 919 @

(A) V2 (B) V2 + 1
©) 2% (D)2 +12

If A = 45° then the value of sinA + cosA + tanA is

(A) V2 (B) V2 + 1
©) %% (D)2 +12

gfe foddl g1 &1 2roam g #x far Sy o ¢ g7 SR QR g1 & &=thell &l

3T ®
(A)1:2 B)1:4
(C)4 : 1 (D)2 : 1

If the radius of a circle is doubled then the ratio of the areas of the new
circle and the old circle is
(A)1:2 (B)1:4

21



95.

56.

57.

(C)4 : 1 (D)2 : 1

&1 gl B YRS BT U 2 : 3 & Tl ST &Fhall BT 3IUTd 8
(A)4:9 (B)2:3
(C)3:2 (D)9:4

The circumferences of two circles are in the ratio 2 : 3 then the ratio of their

areas is
(A)4:9 (B)2:3
(C)3:2 (D)9 :4

I U g ol IR 21 I IGHR 87T B T § Al SHBI AT &FABA BRN

(A) TR T (B) 3TS T

(C) Sirere T (D) 377 & PIE e

If the circumference of a circle increases from 2w to 8w then its new area

will be
(A) four times (B) eight times

(C) sixteen times (D) none of these

22



58.

59.

60.

el e & oY fawga & fcen® @4, 7) (0. 5) 3R (5, 3) T| 39D T=d &
[RENIEZRS

(A) (3, 4) (B) (3, 5)

(C) (5, 3) (D) (4, 7)

The co-ordinates of the vertices of a triangle are (4, 7) (0, 5) and (5, 3).
The co-ordinates of its centroid are

(A) (3, 4) (B) (3,5)

(C) (5, 3) (D) (4, 7)

fag (-1, —2) fPg urg 5 Reyd & ?

(A) w2 (B) fe<ita
(C) T (D) =g

In which quadrant is the point (-1, -2) situated ?
(A) first (B) second
(C) third (D) fourth

IS fHdl WaRgvs & U BR & ewid (4, —5) AR 79 fd5 (0, 0) &1, a1 T
BR & Mce®

(A) (-4,-5) (B) (-4, 5)

(C) (4. 5) (D) (5, 4)

If the co-ordinates of one end of a line segment are (4, -5) and its middle
point is (0, 0) then the co-ordinates of the other end are

23



61.

62.

63.

(A) (-4, -9) (B) (-4, 9)
(C) (4, 9) (D) (5, 4)

gfe A =30° g2 B = 60° a7 sinA.cosB + cosA.sinB &1 919 2

(A) -1 (B) 1
©)2 (D)2

(A) -1 (B) 1
(O (D)2

afe 0(0,0) 9o fog &1 iR fag P & fcena (3, —4) &1 a 1 OP &

(A) 3 TSl (B) 4 sapreaT

(C) 5 STl (D) 2 grsAl

If O(0,0) be the origin and the co-ordinates of point P be (-3, -4) then the
distance OP is

(A) 3 units (B) 4 units

(C) 5 units (D) 2 units

x—31eT R 5 fag & Fdens &1 w9 8ien ©

(A) (x, 0) (B) (0, x)

(C) (0, ) (D) &4 & ®Ig el

A point on x-axis has co-ordinates of the form

24



(A) (x, 0) (B) (0, x)
(C) (0, y) (D) none of these
64. fa=g (10sin60°, 0) &R (0, 10sin30°%) & & & g &
(A) 6 g (B) 8 sare
(C) 10 gaprsar (D) 12 T
The distance between the points (10sin60°, 0) and (0, 10sin30°) is
(A) 6 units (B) 8 units
(C) 10 units (D) 12 units
65. afe g% (0, 0), (1, 2) T (x, y) W@ ®,
(A)x=y (B)2x =y
(C)x =2y (D) 2x = -y
If the points (0, 0), (1, 2) and (x, y) are collinear then
(A)x=y (B) 2x =y
(C)x=2y (D) 2x = -y
66. A(0, 1), B(0, 5) @ C(3, 4) ¥ a1 1l &1 &% 2
(A) 16 T gBTS (B) 8 = gbTS
(C)6 o gaTe (D) 4 & gTg
The area of the triangle formed by A(0, 1), B(0, 5) and C(3, 4) is
(A) 16 sq unit (B) 8 sq unit
(C)6 sq unit (D) 4 sq unit

25



67.

68.

69.

frefoiad o fad <7 faeol axrex 8ld € ?

(A) FHagS (B) wHITR g

(C) st (D) g4 & PIE el
In which of the following both the diagonals are equal ?
(A) rhombus (B) parallelogram
(C) rectangle (D) none of these

2x + 4y =10, 3x + 6y = 12 gRT iU @] o4 grfl ?

(A) Ufereesal (B) Hureit

(D) IR (D) 377 & PIS Tl

The lines represented by 2x + 4y = 10, 3x + 6y = 12 are of which type?
(A) intersecting (B) coincident

(C) parallel (D) none of these

e &l a9 @& U A%l 31 FarE 8v/3 T 2, Al $9dT S [HART &
(A) 8V3 o1 (B) 8 ¥t

(C) 4V3 ¥+ (D) V3 &I

If the length of a diagonal of a cube is 81/3 cm then its each edge is
(A) 8v3 cm (B) 8 cm

(C)4v3 cm (D) V3 cm
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70. TS 99 P YO—Th 96 T © Al AP IAD [HART 7
(A) 4 I (B) 5 I
(C) 6 = (D) 16 ¥#1
The surface area of a cube is 96cm? then its each edge is
(A)4 cm (B) 5 cm
(C)6cm (D) 16 cm

71. Sl & YOI &A% BIAT ©

(A) 27r? (B) 3nr?
(C) 4nr? (D) nr?
The surface area of a sphere is

(A) 27r? (B) 3nr
(C) 4nr? (D) 7r?

72. Q1 A B ST BT AU 27 : 64 & A I Ih YOS D FBAl Pl UTd
B
(A)2:3 (B)9 : 16
(C)16 : 9 (D)3 :2
The ratio of volumes of two hemisphere is 27 : 64 then the ratio of their
curved surface areas is
(A)2:3 (B)9 : 16

(C)16:9 (D)3 : 2
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73. TI JA B ATl BT U 3 1 2 IR IADI JHARAT BT AU 5 ¢ 7 7, Al

SECCIDREIRCIRCE CIN
(A) 28 : 45 (B) 45 : 28
(C)15:14 (D) 14 : 15
The radii of two cylinders are in the ratio 3 : 2 and their heights are in the
ratio 5 : 7 then the ratio of their volumes is
(A) 28 : 45 (B) 45 : 28
(C)15: 14 (D) 14 : 15
74. sin®0(1 + cot®9) =
(A) cos®0 (B) sec?d

(C)1 (D)0
75. e AT 2 H Sarg h = 12 Ho 3R B r = 5 Mo 81 @1 e Farg [ &1

a4 B
(A) 11 #i0 (B) 12 #o
(C) 13 o (D) 14 %o

If in any cone height h = 12 m and radius r = 5 m then the value of slant
height [ is
(A)11m (B)12m

(C)13 m (D) 14 m
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76.

77.

78.

el Saqeiig 99 & SR &1 &%hd Al ma’ W 81 iR Sa1s b A+ &1, ar

UG qh IS Bl ATH ©
(A) 2ma * 5 (B) 2mab wHY
(C) 2ra®b Y (D) 39 & ®IE &I

If the area of a base of a right circular cylinder be ma? cm? and height is b
cm then the area of its curved surface is

(A) 2a® cm? (B) 2mab cm?

(C) 2ma’b cm? (D) none of these

afe xtand5° x cos60° = sin60° x cot60’ dr x TR 2
(A) V3 (B);

1
(C) 1 D) %
If xtan45° x cos60° = sin60° x cot60° then x is equal to

(A) V3 (B)+

(C)1 (D)

afe cot3x = sind5°.cos45° + cos60° T x BT AF B

(A) 30° (B) 45°

(C)15° (D) 20°

If cot3x = sin45°.cos45° + cosB0° then the value of x is
(A) 30° (B) 45°
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79.

80.

82.

(C)15° (D) 20°

afe cosh + sech = 4 A1 cos’6 + sec’d &1 A9 &

(A) 12 (B) 13

(C) 14 (D) 16

If cosh + sech = 4 then the value of cos®d + sec?d is

(A) 12 (B) 13

(C) 14 (D) 16

afd secA + tanA = 2a 3R secA—tanA=b @l ab &1 79 &
(A) 1 (B) -1

(C)~ (D)

N

(A) 1 (B) -1

(C)- (D)~
sec60° =

(A) 1 (B) 2
(C)+ (D)0

afe A + B =90°dl cotA RN B
(A) sinB (B) cosB

(C) tanB (D) secB
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83.

84.

85.

If A + B = 90° then cotA is equal to
(A) sinB (B) cosB
(C) tanB (D) secB

Ife cosh = 1—; T cosech SRR &

(A) = (B) =

13

13 5
C) 5 (D)
If cos@ = % then cosecf is equal to

(A) = (B) =

13
(C)— (D)

IfE 4tand = 3 A1 cos’d + sin’f &1 A &

(A) -1 (B) 1

(C)2 (D)<

If 4tand = 3 then the value of cos®d + sind is
(A) -1 (B) 1

(C)2 (D)5
cot?d(sech — 1) (secld + 1) = x AT X BT A =
(A) -1 (B) 1

(C)2 (D) -2
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86.

87.

cot’d(sect — 1) (sech + 1) = x then the value of x is

(A) -1 (B) 1

(C)2 (D) -2

el MR @1 a1 35 Ho 21 S9 G BT S99 DIV 45° I, AT AMR B BT
H A ST R T BT ?

(A) 30 #io (B) 35+/3 o

(C) 35 o (D) 30+/3 #io

The height of a tower is 35 m. when the angle of elevation of the sun is 45°,
what will be the length of the tower’s shadow on the ground ?

(A) 30 m (B) 35v3 m

(C)35m (D) 30v/3 m

Iy el SealeR W9 Y Sas T R ST WY P BT I oddls bl \/—%Tﬁ

g a1 g BT I=IF BT BT
(A) 30° (B) 45°

(C) 60° (D) 75°

If the height of a vertical pole is % times the length of its shadow on the

ground then the angle of elevation of the sun is
(A) 30° (B) 45°

(C) 60° (D) 75°
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88. (cosecH — sinf) (sech — cosh) (tanb + coth) =

(A)O (B) 1
(C) -1 (D) 2
89. 2oy

(A) 1 (B) -1
(C)2 (D) -2
The value of 22

(A) 1 (B) -1
(C)2 (D) -2

90. ¥ sin50° + cos40° = 2sinAdT A &1 719 2
(A) 40° (B) 50°
(C) 90° (D) 30°
If sin50° + cos40° = 2sinA then the value of A is
(A) 40° (B) 50°
(C) 90° (D) 30°

1. ?Jﬁ’28=gﬁﬁ secH &1 {9 BRI

(A)

Nl

(C)

~ |G
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If 20 = % then the value of secé will be

(A) (B) V2

Sk

(C)

~ |G

(D)~

2520 2 ,m0
sin“23"+ sin“67
92.

+ sin?59° + c0s59°.sin31° =
c0s213%+ cos2779

(A)3 (B) 2

(C) 1 (D)0

93. TP IY H UdH HEH IGeBdT AT Il & | $9@ 3 AT SF B B UTRidhar

(A)

I

(B)

ok

(C)

N |-

(D)

A w

A month is selected at random in a year. The probability of it being April or

June is
(A) + (B) -
(C)+ (D)=

94. TP U Bl b H GAT 4 IT 5 3 Bl YTAbdT &

(A)

N |-

(B)

[ I

(C)

W | =

(D)

wIlN
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The probability of getting a number 4 or 5 in throwing a die is

(A)

N |-

(B)

AR

(C)

[SSE T

(D)

wIlN

95. TP U Bl B IR b 6 i MM I UTl¥iddr ©

(A)

[ N

(B)

N lun

(C) (D) s | ®lg el

N | =

In throwing a die, the probability of not getting 6 is

(A) £ (B):
(C) % (D) none of these

96. TR RYadl P IV § G GRUTAT B AT 2

(A) 4 (B) 2*

(C) 4 (D) 5 & F1E T
The number of possible outcomes in tossing four coins is
(A) 4 (B) 2

(C) 4° (D) none of these

97. TP U &I U Bb H 3 3R 6 & 1 BT b U 8IF BT UTIhdT &

(A)0 (B)

(SN Y

(C)5 (D) 1
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98.

99.

The probability of getting a digit between 3 and 6 in throwing a die once is

4,5,6,7,7,5,4,5 % 9P AT & ?

(A) 4 (B)5
(C) 6 (D) 7
What is the mode of 4,5,6,7,7,5,4,57?
(A) 4 (B) 5
(C)6 (D)7
18, 13, 17, 12, 16, 19 HI HAIIHI &

(A) 15 (B) 16
(C) 16.5 (D) 17
The median of 18, 13, 17, 12, 16, 19 is
(A) 15 (B) 16

(C) 16.5 (D) 17

100. afd 1,4, X, 5,y I AI 7 g Al X IR y # Ay &

(A)x+y= 15 (B)x+y=20

(C)x+y=25 (D)x—y=25

If the mean of 1, 4, x, 5, yis 7 then the relation between x and y is
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(A)x+y= 15 (B)yx+y =20
(C)x+y=25 (D)x—-y=25
gvs—g / SECTION-B

g I 92/ Short Answer Type Questions

U AT 1 ¥ 30 Tb 7Y S<NIG U & | g9 9 BEl 15 U B SR < | TP U
& o1y 2 3fe FeiRa 2| 15x2=30
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15

questions. Each question carries 2 marks. 15x2=30

1. fgord 9gug 2x° — 8x + 6 & YIB! BT ANT UG UGS ST o | 2

Find the sum and product of the zeros of the quadratic polynomial
2x° — 8x + 6.

2. fEond 9gu< 4x°- 3@ YIS TG B | 2
Find the zeros of the quadratic polynomial 4x? — 3.

3. 3T 3x+ay=13Rbx—2y=3F &I x=1,y=28 d a JRb & a4
ST B | 2
If the solution of 3x + ay =1 and bx -2y =3 isx =1, y = 2 then find the
values of a and b.

4. 4XP+BX+2 DI X+ 3 W YN | 2
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10.

Divide 4x* + 5x + 2 by x + 3.

Jfaere Mo TATIREH BT YN R 135 IR 225 & HO WO oA HY | 2

Using Euclid’s division algorithm find the H.C.F. of 135 and 225.

IFRIGISEIEaNY 3f—2y+§=0$ﬁﬁﬂ?5§lﬁﬂﬁ@ﬂ§ﬁaﬁuﬂg‘%aﬂmz

Find the discriminant of the quadratic equation 3y* — 2y + % = 0 and find

the nature of roots.
247+ 12 + .. + 122 BT ATh ST BN |

Find the sumof2+7 + 12+ ... + 122.

) sin*6@ — cos*0
Rig &~ fb =1.

sin20 — cos26

sin*0 — cos*0
Prove that =1.
sin20 — cos26

AABC # DEIIBC, AD

A ST BN |

In AABC DEIIBC, AD = 1.5 cm, DB = 3 cm, AE

value of EC.

1.5 941, DB = 3 &1, AE

139 81 dr EC &1

2

1 cm then find the

e s ABC @1 4o BC W U fd5 D 39 UaR Rea g f& ZADC =

/BAC 2, fig ¥ f CA? = CB.CD.
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11.

12.

13.

14.

D is a point on the side BC of a triangle ABC such that Z/ADC = ZBAC,

Prove that CA% = CB.CD.

gt 2, 1wl ) g AR S B Feifed g e @

a,’ b,
T A 2
x+2y+3=0,3x+06y+9=0.

By comparing the ratios =, % and 2 find out whether the following pair

a;’ by c2
of equations are consistent or inconsistent :
x+2y+3=0,3x+6y+9=0.

el g @1 &= (2, —3) © 3R I9® I AB & Td BR B(1,4)s AT A &
e gd g o Fsar g o | 2
The centre of a circle is (2, -3) and one end of its diameter AB is B(1, 4).
Find the coordinates of A and the radius of the circle.

B &1 eEwa s B e ol & Adene (3, 4) (—4, 3) 3R (8, 6) T 2
Find the area of the triangle, the co-ordianates of whose vertices are

(3, 4), (-4, 3) and (8, 6).

fagatl (4, 6) 3R (2, 4) BT MeATFEE WIETs & A—fdg & A 95 (8.6)
BEEIREERY 2
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15.

16.

17.

18.

19.

20.

21.

Find the distance of the mid-point of the line segment joining the points
(4, 6) and (2, 4) from the point (8, 6).
8 T Broar arel TP 3N el ¥ 1 9H B grell fhadl o MaaR

Mot 18 S Al & 2 2
How many spherical solid bullets each of radius 1 cm can be made from

a solid sphere of radius 8 cm ?

U JAGIATDR W DI URMRT Fprel afe sHPT @9 24 T 811 2

Find the perimeter of a semi circular field if its diameter is 24 cm.

T g B URIY 30.8 THI B, IHDT &AB A DN | 2

The circumference of a circle is 30.8 cm find its area.

Rrg % fp 3020 — tang. 2

2c0s30- cos0

in® — 2sin36
Prove that =———"— = tand.
2co0s30— cosf

g Y 1-|C-ictlfl - zcitjezzle' 2
prove 20 = 0L

Rig &% 5 (1 +sind) (1 -sinf) = —. 2
Prove that (1 + sinf) (1 —sing) = seclze'

g @ 3x +4y =10, 2x- 2y = 2. 2

Solve 3x + 4y = 10, 2x- 2y = 2.
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22.

23.

24.

25.

26.

27.

y-318T IR TS U1 a5 §d oY S fag0 (2, 3) 3IR (—4, 1) 9 FHGRA & 2
Find a point on the y-axis which is equidistant from the points (2, 3) and
(-4, 1).

g ™ & g 2, —2), (-3, 8) 3R (—1, 4) WET | 2

Prove that the points (2, -2), (-3, 8) and (-1, 4) are collinear.

8.4 I T3 dTel g<l &1 IR Td &=l S o | 2

Find the circumference and area of a circle with radius 8.4 cm.

Broar 4 T el U g7 b FASUWUE BT &A% S BN STHB] Dl DI
30° B | 2

Find the area of the sector of a circle with radius 4 cm and of central
angle 30°.

APQR @1 Yol PR 3R QR R & fdg S 3R T fIg¥ 9 UaR & &
/P = /RTS fig & f& ARPQ~ARTS. 2

S and T are points on sides PR and QR respectively of APQR such that
/P = ZRTS prove that ARPQ~ARTS.

a1 @AWY Sl & aFmd 121 WA IR 64 W B | AR U B[S #
HIETDT 121 T 8, A1 TR ST B FId ATegedT S1d o | 2
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28.

29.

30.

The areas of two similar triangle are 121 cm? and 64 cm?. If the median
of first triangle is 12.1 cm, find the corresponding median of the other
triangle.

afE 30, 35, 20, 15 AR X BT FATR ARYT 24 B AT X BT A M B | 2

If the arithmetic mean of 30, 35, 20, 15 and x is 24 then find the value of

X.

3 3BT B GE H TS BT 3B IS B Db BT (A 7| AR I9 A o

H 54 GCT § O 39D 37 de1 ST | 39 A & FHIRT ol | 2

In a two digit number, the ten’s digit is three times of unit’s digit. When
the number is decreased by 54, the digit are reversed. Write the
equations for these statements.

FHIHROT BRI 3x — 5y = 4 UF 9x — 2y = 7 &l qoi oA A F 81 B | 2
Solve the system of equations 3x — 5y = 4 and 9x — 2y = 7 by cross
multiplication method.

<l S99 9e / Long Answer Type Questions.

9T AT 31 W 38 o/ SN U 2 | 599 O fhal 4 Ul & SR T | UAH U b
foTu 5 3f fAgiRa 2| 4x5=20

Question Nos 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. 4x5=20
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31.

32.

33.

34.

RgDH FHIBRT T X — 4y + 14 = 0 T241 3x + 2y - 14 = 0 BT AT@ W 3R
A N | 5
Draw the graphs of the pair of linear equations x — 4y + 14 = 0 and 3x +

2y - 14 = 0 and solve them.
3mad ABCD & 3fex Rerd O oI5 fag 2 a1 Rig o & 5

OB? + OD” = OA® + OC*.

Inside a rectangle ABCD, O is any point then Prove that

OB? + OD” = OA® + OC>.

TP Hiex e, e Rer 5 # a1 18 feoHio /€er 8, 24 fHoHio oRT &
ufird S H, 98 S gRT & ITdqA dled dI AUeT 1 Hel Afdd o T
IRT B AT S DN | 5

A motot boat whose speed is 18 km/h in still water takes 1 hour more to
go 24 km up stream than to return down stream to the same spot. Find

the speed of the stream.

U MR & Ul ¥ ok drell Al Y@ IR 1€ 9 HAM: a Hier qr b #iex
& ZRAT W R 37 953 & AFR & RER & S+ I T §HR & {h
g1 g o 5 TR & a8 Vab WX 2| 5

The angles of elevation of the top of a tower from two points on the

ground at distances a metres and b metres from the base of the tower
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35.

36.

37.

and in the same straight line are complementary. Prove that the height
of the tower is Vab metres.

T FHHIT st ABC sifdha o foad AB = 8 3#1, BC = 6 ¥ @2 /B =
90°, B¥ AC ™R d BD & urg D 8| ABCD &1 uRgd HH | 5

Draw a right angled triangle ABC in which AB = 8cm, BC =6 cm and £B

= 90° D is the foot of perpendicular BD from B on AC. Draw circum

circle of ABCD.
: tan® cotd _

g & f& + 1 + secf.cosech. 5
1—cot 1-tané
tand to

Prove that 7+ 22 =1 + sech.cosech.
1-cotf 1-tan@

FfeTRaT e &1 9gdTd ST DY 5

UTeich 0—10 | 10—20 | 20—30 | 30—40 | 40—50 | 50—60 | 60—70 | 70—80

SERl 25 40 60 75 95 130 195 245

Find the mode of following distribution :

Marks 0—10 10—20 | 20—30 | 30—40 | 40—50 | 50—60 60—70 | 70—80
obtained
Cumulative 25 40 60 75 95 130 195 245
frequency
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38.

g1 @1 aTeR A g1 3R FW A Gl P o Uy b U I & ATHR Bl
g el S5 16 T & de et ok S RRi @1 Bt wwer 8 a9l
3R 20 ¥HI & %0 50 Ul olle} @l &% A §9 I+ Dl YR ¥R+ dlcl Y HI Jd
A B (T = 3.14)

A container opened from the top and made up of a metal sheet is in the

form of a frustum of a cone of height 16 cm with radii of its lower and

upper ends as 8 cm and 20 cm respectively. Find the cost of the milk

which can completely fill the container, at the rate of Rs. 50 per litre. (i

= 3.14)
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